'
é @ m 395 Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
6, 825 x 100 = 9,806 x 10 =
3,06 x 100 = 2,382 x 1000 =
6,01 x 10 = 5,522 x 10 =
2,345 x 100 = 9,613 x 100 =
6,459 x 1000 = 8, 833 x 1000 =
3,554 x 10 = 5,114 x 10 =
5,574 x 1000 = 7,078 x 100 =
1,579 x 10 = 5,468 x 10 =
10,53 x 10 = 8,26 x 10 =
4,812 x 10 = 10, 65 x 1000 =
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'
é @ m 595 Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
6,825 x 100 = 682.5 9,806 x 10 = 98.06
3,06 x 100 = 306 2,382 x 1000 = 2382
6,01 x 10 = 60.1 5,522 % 10 = 55.22
2,345 x 100 = 234.5 9,613 x 100 = 961.3
6,459 x 1000 = 6459 8,833 x 1000 = 8833
3,554 x 10 = 35.54 5,114 x 10 =51.14
5,574 x 1000 = 5574 7,078 x 100 = 707.8
1,579 x 10 = 15.79 5,468 x 10 = 54.68
10,53 x 10 = 105.3 8,26 x 10 = 82.6
4,812 x 10 = 48.12 10, 65 x 1000 = 10650
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